
 

1. Expand and simplify: 

 

3(𝑥 − 3)(3𝑥 − 4) − 2(2𝑥 − 7)ଶ 

 

2. Factor fully: 

 

a. 2𝑚ଶ𝑛ଶ − 4𝑚ଶ𝑛ଷ − 10𝑚ଷ𝑛ଶ 
b. 9𝑥(𝑥 + 7) − (𝑥 + 2)(𝑥 + 7) 
c. 2𝑚ଶ − 25𝑎 − 5𝑚 + 10𝑎𝑚 
d. 𝑥ଶ − 14𝑥𝑦 − 72𝑦ଶ 
e. 36𝑎ଶ − 84𝑎 + 49 
f. 125𝑥ଷ + 8 

 

3. Factor fully: 
a. 3𝑝ଶ − 19𝑝𝑞 − 14𝑞ଶ 
b. 16𝑥ଶ − 81𝑦ସ 
c. 5𝑥ଷ − 80𝑥𝑦ଶ 
d. 𝑥଺ − 𝑦଺ 
e. 16𝑥ଶ − 24𝑥 + 9 − (2𝑥 + 3𝑦)ଶ 
f. (𝑥ଶ + 3𝑥)ଶ − 8(𝑥ଶ + 3𝑥) − 20 

 

4.   
a. Divide (4𝑥ଶ + 6𝑥ଷ + 20) by (𝑥 + 2). Write a division statement. 
b. Find 𝑘 if (𝑥 − 3) is a factor of 𝑥ଷ − 𝑘𝑥ଶ + 5𝑥 + 5 

 

5. Use the Factor Theorem to factor: 

 

2𝑚ଷ −𝑚ଶ − 13𝑚 − 6 

 

 


